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Question paper of the written examination for (Selection) held on 08.01.2025 for the post
of JE(Works) in PB-II, Level-6 against 25% PRQ in Engineering Department, Dhanbad.
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There will be 110 questions, at least out of each 100 will have to be answerea. 10
questions (optional) will be on Raj Bhasha. If any candidate answers more than 100,

the first 100 attempted questions will be count.

el 110 U% 8111, HH A BH 100 UH & IR & 814, 10 U4 (debfetich) st HIST TR G|
T i IEiear 100 T S Ul $T IR a1 @ ) War {8 T Ued 100 WHA Bl
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For filling the OMR sheet use only Blue/ Black ink only.

3NTH3HR 2fie BT 1R T dbad e / Bl Wlel g1 T B

No cutting, overwriting or modifying is allowed.

fopll bR ) wfdw, 3NaR e a1 YMeH Bt oHld 48! B

Ensure signature of invigilator officer In-charge on answer sheet OMR sheet.

IR GRIepT AR e R siefterd a1 UHIR &1 s&d1eR gfdd S

One third of the marks allotted for each question will be deducted for wrong answer.
foalt wef BT TTeTd IR 37 TR U 3 9 (1/3) Uab faers 3iep ufdl 7Terd IR A pelcht
@ St

Select options as capital letters in English alphabet like A or B or C or D.
3o quiATar S A AT B 1 C UTD & 9 31&RT & U H fad ey &1 99 B
In case of difference in the interpretation of the question in Hindi & English version
the English version will be treated as correct.
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10.

11.

In a cantilever beam or slab, main reinforcement is provided at

U feclior dw a1 W 3, wre wRan st yer R o 27

a) Top (Qﬂﬁf) B) Bottom (12 C) Middle (H#) D) none of the above (E:lff@ﬁ“{' '*-ﬁq—fﬁ)

How many litres make one Cubic metre?

TS O Hier fbda e A aar 22

a) 10000 b) 100 c) 1000 d) 100000

What is the initial setting time of ordinary cement?

IR W 1 URFY e e a7 2

a) 30 minutes b) 1 hrs ¢) 10 hrs d) None of the above

Whoa is the material Passing officer for the works?

P & forg weRarer wiR siftbeR i 2 .

a) gDEN (Q‘{,&Q:D b) SSE/Works (QHQE%‘@Y&) ¢) JE/Works (@ﬁf/aﬂ[f) d) none of the above (399
D5t 7).

Which of the following is a non-destructive testing method used to assess the quality of concrete?

ﬁa%@aﬁ@ﬁwﬁw%ﬁwmqﬁmﬁﬁ%mmmmﬁmﬁ e
IR & for fbar amar 27

A) Ultrasonic testing (G{E\w Uﬂ&IUT) B) Core testing (Erﬁv qﬁ&ﬂ”)

C) Load testing (ﬁg q’ﬁ&fUT) D) Dye penetration testing (31‘5‘9331 qﬂ&fUT)

All the structures with Roof Trusses are to be inspected by SSE/ Works once .
W@éﬁaﬁmwwmﬁmﬂmﬁwﬁmfﬁ%mﬁﬂmmm%

A) aQuarter (E?fa'mfﬂ) B) a vear ( ma&‘) C) a month (UAH HIG) D) in two years (8 Gl 9T ﬁ)

Which of the following tests is used to determine the consistency of freshly mixed concrete?

gmﬁ@aéﬁﬂeﬁ@wﬁﬂfhama?mﬁg%@aﬁémqﬁ&mwm%mm

A) Sieve analysis (Fa-t fawayon B) Slump test (ﬂiﬁ Uﬁ&mﬂ
C) Liquid limit test (GR& TAT glemr ) D) Triaxial test (ﬁﬁf&'ﬁq qﬁ&ﬂﬂ)

Concrete laid above window or door opening is called

@@ﬁmm%@%@%wﬁm‘ﬁww%

A) Sunshade (ﬂ?@f@‘{) b) Parapet (ERT&E') ]
c) Lintel (ﬁéﬂ) d) None of the above above (370 ¥ ﬁg ] '_'I—E?f)

Main cause of roof leakage is

&d ¥ A9 &1 g1 sRur 2>
A) Stagnation of water on the roof (B W Gt ST Eﬂ:ﬂ) b) lack of slope (G- &T 3HHIq)

c) choking of rain water pipes (38f 5Tt qrgal o1 WET:H) d) all (Hlﬁ)

Which of the following is a safety precaution while doing carpentry works?
meﬁwﬁaﬁ@aﬁﬁﬁawww&%ﬁm%

a) Never wear loose clothes while doing carpentry (§G37IN! #q 97 Ht 4t A FUS T URE))

b) keep the floor area free from obstructions (B3 &7 B e F Had !@)

¢) Hold the jobs firmly in clamps while warking on machines (W3 q¥ BTH Hq YHY BTH B aodq
Aol § U )

d) All (T4

Which of the following is a precaution to be observed in making a joint in wood.

mﬁ%mmmﬁaﬁmwwmm?
a) Avoid sharp corners (A% B} I a?)) b) select a proper joint as per requirement (3TdGEHIT &

SIUR 3Md Sitg &1 9w )
c) feed the stock in correct direction XT®H P H?"Y %Qﬂ e Blg aﬁ) d) all (H‘-ﬁ)



12.

13.

1S.

16.

17.

18.

19.

20.

Lead is used as in paints

A8 H1IyaNT e | FEudfFaemag

a) Base (3IYUIR) b) carrier (dIgd) c) drier (ﬂ@'ﬁaﬁ'ﬂ) d) pigment (a’Uf@

When paint is applied in three coats, the first coat is known as
i G¢ &l dli-l dblcl & diil Slidl 8, o) Ugdll dhie dhgdlidi g
A) stopping (Rﬁﬂa"ﬁa b) finishing coat (ﬁ?ﬁﬁmaﬁa

c) under coat (aigwﬂz) d) priming coat (Clﬁmﬂm

arAn

. Formation of bubbles on painted surfaces is known as

GfeTT gl IR gAge 9 ) T BEd &2

a) Bloom (Rd@) b) blistering ((PWIdI US) c) flaking (38T d) fading (e g

Which of the following is the most durable varnish?

frafeiea o 9 o o v feorg affa @
A) oit varnish {dIct GH=IET) ¢) spirit vamish (AR i
B) turpentine varnish ('ﬂRTﬁq aﬁw) d) water varnish (Cﬂ"ﬂ aTﬁfFQD

Truss shown in the figure is called ==& ] —

Eﬂaﬁw “7 4\:%@ '\Jlﬁ\%r_:{ﬁ |\(\g|q| TP:H%
a) Kingpost m b} queen post (m) c) Howe (sﬁ) d) fan (arr[)

Truss shown in the figure is called == l I J

¥ &l &1 Hgd g ol SR o H e mar g

b) Kingpost ([ATTUIRT) b) queen post (FATTURET) c) Howe (B1d) d) fan (B
Rl
[© O

What is the name of this tool shown in the figure
ferzt 7 AT TTQ 39 T 1 AT 1 8

a) Saw (\Wﬁ) b) hammer (62?"5") ¢) mallet (ﬁ_f?ﬁ)
d) spirit level (RURe daen

What is the name of this tool shown in the figure

EEE G O ik A
a) Saw (\H’Iﬁ) b) hammer (3‘2331) c) clamp (a?fq)
d) spirit level (n"w;i Re ﬁaa)

What is the name of this tool shown ln the figure '
IEERREGAGILY WQSHQHEEIWWE??
a) Try square @ﬁm) b) hammer (E‘{hﬁﬂ) ¢)clamp (B?fq)

d) spirit level (
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27.

28.

29.

What is the characteristic compressive strength of 150mm cube at 28 days of M20 concrete?

M20 Fpie & 28 fat 7 150 et w91 Y fawar wdie wida s 82

a) 15 N/mm? b) 18.5 N/mm?c)20 N/mm?d)19.5 N/mm?

. The dimensions of standard brick are

A S¢ DI ITATH 7 87
(@) 19x9x9 cm (b) 20x10x10 cm (c) 19x9x5 cm (d) 20x10x5 cm
How many days, a timber may require for natural seasoning

Wl Yblg & 10 db gt Bl fobea) 11 bt siiaxgasdr g1 gabd! 82
(a) 20 months (20 HalAN ( (b) 4-6 month (4-6 BT (c) 1 year (1 Ffﬁf) (d) 2year(2?ﬂ§)

Soundness test of cement is done to determine its

e b1 gegdr gten fhger Fefkor o & for i o &2
a. Durability in sea water. (ﬂ'ﬂ?ﬁﬁaﬁ“ﬂﬁﬁ)

b. Free lime content. (Wﬁ NIEL ﬁf}

c. Iron oxide content.( 3{TORA QVWTS@$ é'ED
d. Alumina content. (ngh:n &)

. Optimum moisture content is the moisture content at which

VAH TH! & {1 a5 TH B 0 gl § S W

a. settiement is maximum (ﬁqEF[ H@W%)

b. permeability is more (ARTIAT 3 Bl §)

c. dry density is maximum ([5h Y7 SYHIH BT 8)
d. shear strength is less W(Fﬁ iad ®HH %)

Within station premises who is responsible for encroachment

a) SM & RPF Inspector (THUH T G{RTﬂQCﬁS'@HET)

b) SSE/Works (THTTS/dad)

c) SSE/Works & SSE/P.Way (Qﬂ@%/ﬂﬂﬁ 3R QHWSF/Eﬂa)
d) All of above (Gnﬁaamﬂ)

Maximum distance between two boundary stones is

< T TR & &g S g a8
b) a) 100m (100 HeR) b) 150m (150 HIeR) c) 200m (200 HITI) d) None of the above @ A
BIS it T8,

Height of boundary stone abqve ground ish
ST TR 8 T URR @ SaTs [dhdl 8
(a) 500 mm (500 &) b) 600m (600 ) ) 400mm (400 fEfly  d) Any one the above

(Cm‘laaﬁﬁaﬂéiﬁ)

Which of the following is not a type of mortar?
FafaRad & 9 &1 1 Aiek &1 UaR ol 3
a) Lime mortar gﬂ Fﬁ?ﬁ)

AeR)

b) Brick mortar
¢) Cement mortar (AIH¢T ATy
d) Lime —cement mortar (T - e Aiel)



30.

33.
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38.

39.

40.

41,

. SF-Sisissued

54. How many days of patemity leave is given to a

Feeler. gauge is used to check the
TSI & o Bher ¥t a1 SUUNT {57 Sfrar @
a) Llength (('*WE\‘) b) Angle @m ¢) Gap (3cR) d) Thickness (qlala)

to employec in case of?
%H@Jﬁﬁmﬁaﬁspsm%mm%?

A) Minor penalty GTF‘IGﬁEE) B) Major Penalty (UHE 4g)
¢} Both (?ﬂ:ﬁ) D) None of these (37113 q Effl'sf thii Tf»pf)

- How many LAP can be accumulated b

d Dy a railway employee in entire service?
Ueh Xed T STOEH T e A et vt e d IR el 87
A) 300 days (300 faH) B) 250 days (250 fa)

©) 150 days (150 f&) D) 400 days (100 fem)

Total child care leave that can be taken by female employee during entire service is?
o b GRH :

g;lﬂfm H%W&fﬂmﬁﬁmgm%aﬁﬁwas@mmmmonwm

A) 260 days (260 f&) B) 365 days (365 f& ©) 730 days (730 f&) D) 900 days (900 f&
male railway employee?

mwmﬂﬁ%ﬂ%ﬁﬂmﬁ@&m%mm%
A)10B) 12C) 15 D) 18

In water distribution system, chlorination is done

STt faRon yomeft H Rt fosas forg o smar &7
A) To add taste (wraaaﬁésm

B) To add colour (VT wiieA & fory)

C) To prevent bacterial contamination (Gﬂar(ﬂ WGIUT P b & ﬁ'*IQ)
D) None of these (3R éaﬁé Y ol

The maximum permitted cant on the B.G. A-route?

Sttt w-Arl R s siwa e

(AY140mm. (B)165mm . (C) 150mm (D) 100mm.

Act used for the removal of unauthorized occupation from public place?

A R mmmaﬂeaﬁas%uma{fﬁﬁmwm%mm%?

(A) Indian railways act (R Yaq 3{fAFTH) (B) PPE Act (@i S{Wﬁm})

(C) Railway Eviction Act Xe1d da@eh g ) (D) Bviction of unauthorised occupation act
(3P Peol T Ag@eht i

Which department is responsible for preparing necessar plans for land acquisition?
Y SifRTTEUl & g SMawa® Ao (AR B @ S v ot 22
(A) Engg. Deptt. (B) Accounts Dept. (C) Personnel deptt (D) None

Which key use for copying of letter or lin'el?
ammﬁmaﬁuﬁmﬁaﬁﬁasmeWWWMW%?

(A) Ctrl+B (B) Ctrl+C (C) Ctrl+V (D) Ctrl+S

Which key use for bold to letter? . .

SHER I dles B B AU Bl pofl BT Fud Y2

(A) Ctrl+B  (B) Ctrl+C  (Q)Ctrl+V (D) Ctrl+S

How many bytes is a kilo byte?

T fball a1ge fpa e s gl &7

(A) 1000 (B) 64 (C) 1280 (D) 1024



42. At the left most of the title bar

2I3ed dR & gaY 915 3R 1 8

(A)home  (B) tool bar  (C) control icon (D) menu bar
43. When is the SF-4 issued to the railway employee?

74 HHIR B THUG-4 H TR a1 ST 72
(A) Major penalty  (B) Revocation (C) Suspension (D) None
44. Floor of bathroom should be provided with a minimum slope of towards water outlets.

ST & B B U & P @) SR graw __ el & 91y uar faar ST anfet
2)1in60 60T 1) b)1in80(BOF 1) ¢ 1in100(100F1) d)1in8585H1)

45. SSE (Works) should inspect all the buildings, water supply installations, sewage
installations and drainage arrangements in___.

Tquys ((afo) &) F gvlt Hat, St smufef i, et ufarE ofR Sret it srawT
&1 [ARTerur H =gl

a) Oncein a6 months (6 A8 ¥ T §R) ¢) once in a year (38 8 T& I

b) Oncein a 9 months (9 A& # Td R) d) Once in a 2 year (2 Y H T §R)

46. Levelling in which levels on each side of the main line at right angles to that line is called

B A1 & U U158 W I A5 S JHDHIU W $I TRI # cdfell & Hgl Siidl 82

a) Precise leveliing (i oiafeiT) o) Profile levelling (ITTg Tiafei™)
b) Differential Levelling (FSTIfRrae ®afefm) d) Cross sectioning (shI-T JaIf+M)
47. Annual Zonal Contract commences from of each year.
it &g srEy ud® av I E Bl 6.
a) 1 september (1 f¥dsR) b) 1 July (1 ) 1 april (1 3%d)  d) 1June (1)

48. Elcometer is used for checking the __ of paint.
TehiHe] &1 JualT de &1 __ Sifg & forg [har S g1
a) Dryness (&Pd)  b) Brightness (FH®P)  ¢) Thickness oﬂaé ) d) Viscosity (f%mﬁurqm

49. The inspection by the Colony Committee comprising of Engineering, Medical, Operating
and Electrical Departments and recognised Trade Unions shall be done in ____months.
ey Afeon ___ wEiT | by smem
a) Oncein a6 months (6 g4 # UH dR) ¢)onceina year (Eﬂifff@am
b) Once in a9 months (9 g H T SR) d) Once in a 3 months (3 Al H U TR)
50. In colour washing, the first coat should be of
YA A A PIe B AT
a) Colour wash T ?;K'ﬂ'sc) b) white wash (Fh& Yeilg) ¢) Mixture of both (&Il
d) Paint (1)
51. PCC abbreviated as
et 3 wfta T F e |
a) Plain Cement Concrete (JTal e dwie ) ;) Prepared cement concrete (’a'qR e Wﬂa
b) Reinforced cement Concrete (u'af%a e W) d) Proper Curing Concrete (Wﬁe 2
IFId SUER)
52. Who will be chairman of Colony Committee.
FHlar Tl o1 srege S e
a) AEN (GST) b)IOW (3ME3fiSss) c) SrDEN @R $$T)  d) SM (THTH)



53. Measurement of excavation is taken in
IEFT BT HIH S o vy @
a) Metre (o) b) Sam @fieR) ¢) cubic metre (YT HIeX) d) None (IS T8N
54. RMC abbreviated as
SR 1 Wfara &g a7 @
a) Ready Mix Concrete St ey WE’) b) Ready made concrete gl Hg BHehle)
b) Routine Mix concrete RR?‘?H&IWW d) Ready mix cement (F=¢l m?ﬁﬂ?)

55. RCC abbreviated as
T Hld &9 1 §
a) Plain Cement Concrete (dTeT dflife BPIC ) ¢) Prepared cement concrete (TR Wie bl

b) Reinforced cement Concrete isferd e beple ) d) Proper Curing Concrete (@hsplc o]
56.RDSO Stands for

SRIITH 3 $T Haeq &

a) Research Desing & Standards Organisation. (SFIHT S84 Ud A wiTa)
b) Routine & Desing Standards Organisation (¢ 3R fevgT o TTT3T)
<) Railway Desing & Standards Organisation (Id s+ vd 7 LSUGE)
d) All of the above (SR %H’v‘ﬁ)
57. ECR Stands for
SISR &1 Hofes &
a) East Central Railway (Q\Ef mﬂﬂ?ﬁ)
b) Eastemn Central Railway (Q\Eff A IcTa)

¢) Eastcoast Central Railway (S¥®HRe @Ej’l d)
d) None (?fﬁg:'iﬁ)

58. “CC" in CC Crib stands for
Tl foba A it b oef @

a) Christ Church ($pT3% Td) b) Cement Concrete (e HPIe) ¢) Criss Crossing (fhg
aﬁﬁm d) none (aﬁ§:ffﬂt)

59. IRWM stands for R
3T IHRSSITH BT Heleld g,
a) Indian Railway Works Manual (HR<iHg ¥&q artfﬁaafa)
b) Indian Railway Way Manual (HRdIT Y& WF'fﬁﬁBiﬁ) .
) Indian Railway Way & Works Manual (Wmmﬁ@mﬁgm
d) Indian Railway Maintenance Manual (un?ﬁuiaémmﬁae{a)

60. IRPWM Stands for
EHRUISKIUH BT Hefeld &,
a) Indian Railway Permanent Way Manual (HRdl ¥a Yeigy
b) Indian Railway Permanent Weight Manual (WWWW%M(\’D
) Indian Railway Permanent Works Manual (Hﬂ?ﬁqmwmﬁﬂm
d) All of the above (SR & 'H‘-ﬁ)



61. IRBM Stands for
HEHREITH &7 Haes 2

a) Indian Railway Bridge Manual (HR<g ¥d Ia fAgamac)
b) Indian Railway Bridge workshop Manual (R ¥ed forel e A3ie)
<) Indian Railway Weigh Bridge Manual (MR ¥eid 3e faet Ag3r)
d) All of the above (SR & T+
62. BIS Stands for
A SHISTYH Bl Held §
a) Board of Indian Standards (YRdTT AF® §e)
b) Bureau of international specifications. (&i?m‘@?l faf = <)
¢) Board of Indian specification (HRaIE BT I15)
d) Bureau of Indian Standards (WWW}

63. Write the full form of SIG inspection.
SIG ftefor &1 g1 =7 for.
a) Standard inspection Group Wﬁﬂ&m?{?)
b) Service inspection group (Jdl fAdteor IHg)
c) Service in group (S¥g ¥ ¥d)
d) Service improvement Group. (d 4R THg)
64. .......... Kg is equal to one quintal.
............. [oetium U fbed & SR gidl ol
a)1100 b) 1000 c) 200 d) 100

65. Unit of measurement for damp proof courseis ___

TRt B P g AT A gIE ___© ) .
a) Metre (HIX) b) Sgm (@THICR) ¢) Cubic metre (U7 HICY) d) None CIEGH)

66. Which of the following is/are basic building materials?
Profafaa 3§ Q@ SF-3 ga Pt amd 82
e) Cement (¥HHT ) b) Brick (§2) ¢) Steel (Z¥Id ) d) All of the above (ST & gl

67. Full form of OPC
3T At &t &1 gul =Y .
a) ordinary Portland Cement mtﬁﬁs@ﬂa
b) Ordinary Pozzolana Cement (JT4RUI gieiarT HiHe)
¢) Ordinary Pucca Cement (TTYHTROT Gl psitare)
d) All of the above (TR & T

68. Earth work should be compacted so as to obtain value not less than........... percentage
of the maximum dry density.

ﬁ@%mﬁsﬂaﬁﬁwﬁﬁmmm%mmaﬁwwm% ........
AHH AT
a) 98% b) 97% c) 99% d) 100%



69. The process of keeping concrete moist for a certain period after its finishing, is known as

RN & |1g U P ofaf ddb T Wa- 31 Ufshar &) #1 Hed 87
a) Curing of Concrete (dhshie &1 I g
b) Finishing of Concrete (@shie & fHARIM
) Watering of Concrete (@shIc BT STAEHRON)
d) Compaction of Conrete (@spic T TG-H)

70. What is the name of horizontally sliced building viewed from top?

W T R &fcel U J Bl g3 SHRG Bl 17 1 67

a) Plan (@) b) Cross Section (1 94 ) c) Elevation (TRATH ) d) None (@18 T8l)
71. LWR Stands for

LWR & e §
a) Long Welded Rail (3T deS 8 a)
b) Longest Wild Rail (@TRC arges ¥d)
¢) Long Weight Rail (dI71 3¢ ¥a)
d) None (13 gl
72. MSL Stands for
THEHUE I A ¢
a) Mean Standard level (HT&H HIHD WR)
b) Maximum Sea Level (SfI&HTH FHZ W)
) Mean Sea Level (3Fd GHg ¥R)
d) Ali of the above (SR & G
73. DL stands for
Siud &1 oo &
a) Danger Level (@FQWF"?)
b) Deviation Level (ﬁﬂ?ﬁ IR
¢) Dead Level (@3 ’cﬁ?‘l’)
d) None (ﬁs‘%"f)
74. HFL Stands for
T I A §
a) Highest Flood Level (SdH dlg )
b) Highest Floor Level (JadH HioTdl ¥R)
c) Highest Flush Level (3=dH Tl )
d) All of the above (TR & G+l
75. Per Capita water Consumption as per IS code is
ITETY B P SR Ul e 1 WU &1 8
a) 210 litres b) 225 litres c) 220 litres d) 135 litres
76. The initial setting time for OPC cement as per IS code should not be less than____ .
ST FIS & AR MRA e & forg Rfve A ame A ow A g =iy
a) 60 minutes b) 25 minutes ¢) 35 minutes d) 30 minutes
77. Steel Channel sleepers are provided on Bridge having Super Structure of
B 1 gl YR TR d1Q g R EIel I AR gaH fHu o §
a) PSC slab (TEH IA9) b) PSC Girder (T TR ¢) RCC Box (IR sF) d) Steel
girder CERRISD



78. Working out of ex
Hrf

a)

act quantities of various items for the work is known as

_%Qﬁmﬂﬂaﬁﬁmﬁa?mmﬁaﬂamﬁsﬁﬁﬁ%
Estimation (3{T&eH) b) Measurement (H9) ) Quantity Surveying (HTAT Td&foT)
d) Valuation (Feg
The_Sid_fe_slope of Formation in embankment is
ACHY I 1Hior 1 uref gt @ 27
a) 111b)2:1¢)3:1d)2:3
80. What is the minimum distance of Speed Breaker from Gate Post?
e Ui § wlis S Ft e & T 57

\aA),hZOmb)ZSmc)SOmd) 35m

Vhich program is most suitable for preparing the presentation in computer?
Wﬁﬁ%%ﬁ%hﬁmﬁﬁma@m%

a) MS Outlook (TH-TH 3T3TA®)  ¢) MS Word (TH-TH d9)

b) MS Excel (TH-UY tadd) d) MS Powerpoint (TH-TH GIdRUIS<)
. What is fche primary function of a leveling instrument in surveying?

e ¥ FHAN BT SuB B TS B R 37

a) To measure horizontal angle (&fds ST AR & g

b) To measure vertical angle (S>&TeR BV YA F forg)

¢) To measure distance @" W‘ﬁéﬂ%‘lﬁ)

d) To determine difference in elevation (Hars # 3R fAuia &1 & forg)

83. Jhama Bricks are
FHTSC FE
a) Well Burnt Bricks (&liﬁ R E’&F i%)
b) Over Burnt Bricks (ana?a—«:‘ﬁam
¢} Slightly Bumnt Bricks (8¢ Wil g% 3¢)
d) All of the above (SR & TH)
84. Decorative Work done outside Station Building on walls is done by providing
WA Y & TR §laR] W Ferac] S UG Db fbal Sl 82
a) APP (@) b) ACP (T ¢) ABP (Tsldl) d)None (@13 o)
85. Honeycomb Structure in concrete is caused due to
eple # BA ol TR frdd HRUT BN 82
a) Improper formwork and shuttering causing water leakage from concrete.
(3 WiHad ok el & SR Hbic I U 61 R4rd 81 361 )
b) Improper Compaction of concrete (@DpIT Bl Giﬂﬁﬁ U)
o) both A&B (€ 3R &l &)
d) none of these (@3 g

86. Rain water Harvesting means
vl ST SEa &1 1 3 § | N
a) Coliection & storage of rain water (@§i STei 1 S8l Ud HIRU)
b) Collecting Rain water for charging ground water table (*{3I¢1 ¥R PS¢ & foru anf 5
EZRSPHY))
¢) both A&B (T 3R &t <)
d) none of these (ﬁéﬂ'{ﬁ)

87. Water having Ph Value 7 indicates
g &1 die" 7 7 S R &= §
a) acidic (3%{1d) b) Alkaline (&R ) ¢) Neutral (Jg) d) All of the above (SR & T

79.

81.

82



88. The weight of 10 :
mm dia )
10 R T Wy ameter steel rod per meter length is

XIS BT q51 Ufy e oiars & fban grar 7
a) 0.39 kg b) 0.45 kg ¢) 0.55 Kg d) 0.62 Kg e

89. The weight of 8mm dia

ameter steel rod per meter lengthis
smmmmmwmmwmﬂmm@
a) 0.39 kg b) 045 Kk

: 9 ) 0.55Kg d) 0.62 Kg
What is Flexural member

RTINS W 1 87
3) Column (IeH) b) Beam (s17) C) Both A & B (A 3R B €l) d) None (@18 g

91. who is the chairman of niti aayog of india?

HRT & A 3 & sreme B ©

a) Ashwini Vaishnaw b) Narendra Modi ¢) Amit Shah d) Rajnath Singh
- Who is the current President of India?

HIRA 1 AFUfd HH 7
a) Narendra Modi
b) Droupadi Murmu
¢) Ram Nath Kovind
d) Amit Shah
93. Who is Current CRB & CEO of Indian Railway?
a) Satish Kumar (ﬂ?ﬁfﬂ DHR) c) Jaya Verma Sinha (S141 anfﬁmn
b) Anil Kumar Lahoti (3 $HR &IGICT) d) A. K. Khandelwal (T. &, GSdard)

90.

92

94. Who among the following is the author of the book ‘A Brief History of Time’ ?

fFafcifad # @ B T Sin foX] Si® eBH [d & oE® &
a) Stephen Hawking (1%
b) Harry Kroto (%ﬂ ﬁﬁ)
¢) John Gurdon (SiF T[g)
d) Bruno Rossi @’rﬁ”\’m

95. Who wrote the book Devadas?
AR G e Rt
a) Sarat Chandra Chattopadhyay (JRd % IS ITeaTy)
b) Bankim Chandra Chatterjee (§fdbH 9% geofl)
¢) Rabindranath Tagore (Téﬁw?l ?ﬁﬁ)
b) None of the above (@l’s‘:ﬁﬂ)

96. Which country has recently launched the CR450 Prototype, the world's fastest high-speed
train?

maﬁmmﬁgﬁmaﬂmaﬁrﬁ-mﬁcmsocﬁm T
a) China (d) b) Japan (SITYF) o) France (1P1) d) USA (guem) e




e
~

Recently, who h

4 as been appo;

el ot o YRy Ppointed as the head coach of the Indian men'’s crick ?
ST WW‘&H en’s cricket team?
2) Gautam Gambhir Gﬂmmﬂgn ) ) ¥

b) Ravi Shastri RT3 TRed

¢} WS Laxman [@ldiog @
d) Saurav Ganguly ARq ‘mﬂ!!i‘ﬂ)

98. Who is winner of Bihar Women's Asian Champions Trophy Rajgir 20247
FRER TRl GRS SRR o AT 2004 8 T 87

a) India (HRd)

b) China @)

c) Japan (WU

d) Malaysia (FeifRrmm

What is the name of Rover for moon mission name Chandrayan -3

T e Sgam-3 F o AR & T 1 62

a) Vikram (ﬁm

b) Pragyan (MRT1)

¢) Narayan (IRT4UN)

d) Keshav GRAC)!

99.

100. The Parasnath Hill is situated in which district
qRETY TeTe) fhg o | Rud ©
a) Koderma (PTSIH)
b) Giridih (
¢} Dhanbad (Ud1q)
d) Jamtara (STTHATST)



101. FAHH Ggey T
) s .

A1 1976 b) T 4 EIWWWEW?

375 o) a8 1974 o) 57198 1976

10%31!3%%@%&%33@@@@%?
a) A He # us aR b) AR WEH H U 4R ¢) U 76 7 U GR d) B8 HEH A 0 AR
104. H8d ¥d Srafery &

RISTHIYT SH1af-aa Tifd & siegel B9 gid &7
a%):I DRMW@) b) ADRM (TSI3RTH ) ¢) Sr DPO (AR Siftai) d) Sr DEN/Cord (@R
oo / 1y

105. 8! & Y3 <=if e e
a) 14 TYTTER 1949 b) 15 RITw=R 1949 c) 16 RIT™R 1949 d) 18 RdwR 1949

106. ITHTH & WG & e ST & A afl B e
a)3b)ydac)sd)6

107. R ISTHIY Hrai-ga- T 1 oot 3 el 71 82
a) A A H U SR b) IR HelH H UF SR ¢) Ui A § U 8K o) 38 A 7 U §R”

108. ISTHTT A BT F=NeH Ha 32
a) 1987 b) 1988 c) 1989 ) 1986

100. L & UMY F sreme B 2
a) UeT-HA! b) 78 3l o) foxd w3t o) <an a5t

110. THAHT ISTHTST FIATA B farait Iu afifr &
2)3b)4A5d)6



9

Answerl

106
107
108
109
110
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